2 The{.translator used to convert the code |
written in assembly language to machine
language is called

(A) Assembler (B) Compiler
(C) Linker (D) Interpreter

3. was the first Prime Minister of
Pakistan and his birth place was Karnal,
Haryana. '
(A) Sir Khawaja Nazimuddin
(B) Mohammad Ali Bogra
(C) Chaudhury Mohammad Ali
(D) Liagquat Ali Khan

O The value of

Cy 0.498)* +(2.697+0. 498)

(C) 2199 3% D) 3.195 \2@"

5. The is an 1ntermed1arydemce
between the CPU and the monitor.

(A) Sound cards
(B) Video controller
(C) Disks
(D) None of these
6. Kapil Dev's full name 1s
(A) Kapil Dev Sharma
(B) Kapil Dev Devilal Sherawat
(C) Kapil Dev Ramlal Nikhanj
(D) Kapil Dev Singh

7. International Women's Day 1s celebrated
every year on
(A) March 8" (B) January 17"
(C) March 12" (D) None of the above

.

(B) 2

7. g ad g aiie ) ataue uiten fiaw

AT ST & 7

) 8 W (B) 17 &l
() 1291€ (D) Wﬁ%ﬁéqﬂf‘



1.

12.

13.

14.
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Temperatureﬁ 2
(A) Iron '
(B) Copper

(C) Mercury
(D) Aluminium

Multiple value of pico (p) is ' g

(&) 10 (Bhil0e o »2\(&7

(C) 10° D) 10* \$$’ b
$ g

Absolute charge of proton is
(A) —1.6022 x 10-1°C

(B) 9.6022 x 10~%C

(C) 1.6722 % 106

(D) +1.6022 x 10-12C

This refinery of Haryana is the second
largest refinery in South Asia

(A) Sonipat

(B) Panipat

(C) Gurugram

(D) Faridabad

If*+' means ‘~, ‘-’ means %', < means =’
and “+’ means ‘4’ then 2 + 6 x 6 + 2 ig
(A) 1 (B) o

(C) 10 (D) 5

(B) 9. 6022 x 10—310
(C) 1.6722 x 1&18(:
LB +1.6022 x 1&190

13. mﬁmmﬁmﬁma&wqﬁmﬁ

T e S IR
(A) G ‘
By T

(C) T&amH

(D) WRTsTE

14. Hﬁ+$¥"lﬂ?ﬁ""iﬁqaaa‘x’ ‘x"ﬂﬂﬂ'&lﬂ

+ B HAES + R, ?ﬁ2+6x6 9
wmﬁw—nm?

A) 1 (B)

(©) 10 }Bﬁ v

(=] ]



16.

17.

19.

20.

(C) 10 years

Most of the memory m a mlcro
computer lose them- contents when ﬁﬁe

computer’'s power 1s shut oﬁ. Thns type | i

of nonpermanent memory 13 called
(A) Erasable
(B) Non- volatﬂe

(C) Volatile Ran R
(D) Non-erasable G

' 38
1 inch = cm. '_fel—_u_J-
(A) 3.64 (B) 1.54
©) 3 (D) 2.54

T, .
deals with the calculatio
masses (sometimes volumes also)

0
reactants and the products involxgﬂ%h a

chemical reaction.
(A) Physics

(B) Hydraulics
(C) Stoichiometry
(D) Reaction

&

1 feet = inches.
(A) 6 B) 12
(C) 8 D) 9

This market of Haryana is considered
as the largest Cloth Market of Northern
India

(A) Jawahar Cloth Market

(B) Shori Market

(C) Sadar Bazaar

(D) Khyalia Market

LBy AR
1 e = =\
(A) 6 BT 12
©) 8 (D) 9

50, TN 1 T ST I Wi 1 e 9
FIET TS AT S 2
(A) EXEEIFI
T SR

R @RS

(D) EATT T



of the page 9%
(A) Footnote
(C) Header

@A) CO,

B) 0,

(C) H,

(D) H,0

Which of the following is South-'
boundary of Haryana ?

(A) Delhi (B) Shiwalik
(C) Ghaggar (D) Yamuna

Name the most reactive metal from the
following.

(A) Silver

(B) Gold

(C) Zine

(D) Potassium

|

aquid form of non-metal is

(A) Bromine

(B) Oxygen
(©) lodine (D) Carbon
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What is the theme oﬁ wmld Wetlm;lds I
2021 ? & ;

(A) Wetlands and Blrds
(B) Wetlands and Water |
(C) Wetlands and Forest
(D) None of the above

30. The radii of the stationary states arc? ;
expressed as "

(A) rx=n2 i B) r, "nﬂa i ’
€ =" an' D) R& Ea "

2 men and 7 bo s can do a piece of w rk
55 o8 AR i s

oysjﬁran do ]
same in 11 days. Then 8 men and 6 b

can do three times the amount e . ‘_'
work in o iCRIL T =T I |
(A) 18 days (B) 21 days ) 181 uﬂ{ 21 &
(C) 24 days (D) 30 days (©) 2417 (D) sof&

2. qduEAERETNId A EeEw AR

32. Haryana has a total of

conservation reserves at present.
| A
(A) One (B) Two &) (B) &
(C) Three (D) Four ok D) IR
33. 'The study of emission or absorption 33, Sceoi T STEATIT TR Sl FTEEA
spectra is referred to as FEeldl |

(A) Spectroscopy (A) m
(B) Spectrum U(rﬁr-ﬁ'ofqn

(C) Continuous spectrum () ﬁ'{_(‘l'{@?f{ﬂ 4
(D) Emission spectrum (D) mm ;
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Select il‘hé"iﬁxmgm
different from o
(&) 83,75
(C) 49, 42

1ers

The mass of a block is 87.2 g and its
volume 1s 25 cm®. Its density upto
correct significant figures is

(A) 3.888 g cm™®

(C) 448 gcm™

Who was the first Scientist who deseribed |
the quantitative aspects of electrolysis ? |
(A) Einstien (B) Rutherford

(C) Yewton (D) Michzael Faraday |

Pur&;b Gram Panchayat Act was first
passed in

(A) 1952 (B) 1961

(C) 1992 (D) 1993

The Headquarters of Southern Railway

(_:'}'_J C}hennai (B) Mangalore
(C) Salem (D) None of the above

The type

; of Writ issued by a higher court
when |

goi alower court has considered a case
{'_“%\ﬂg beyond its jurisdiction
(j‘(: Habeas Corpus (B) Mandamus

") Prohibition (D) Quo-warranto




44.

45.

47.

48.

49.

(A) Loor
(C) Lohri 100
Aruna ranks 12"*“l m’aref’assuf(
will be her rank from the last
(A) 33
(C) 35

Cinnabar 1s
A) CuS
(C) HgS

The highest population of pi
Haryana was found in
district. :
(A) Sonipat (B) | A
(C) Ambala D) i b 2 (D)
1 17 91 AR FE 7
dmfagen  (B) ®. W@, e

 f.e.wm (D) TR A & S T

Wheo is the 17 Speaker of Lok Sabha ?

(é) P A. Sangma (D) None of

The temperature of 100g ‘at-‘wa:ség&’be 47.  100g T %1 T 24°C H SR 90°C
raised from 24°C to 90°C by adding steam ﬁmmm%lmmmﬂﬁ
to it. The mass of the steam required for & T 2 :
this purpose 1s
(A) 10¢ ®) 12¢ ' il 87 12k
© 14¢g (D) 16 ¢ s ol
An electron in the 25, 2p or higher orbitals | 48, T TSI THY F 26, 2p 1 Iearat Herail
in a hydrogen atom is 1n o Uz 3@'&@!’:[ H ‘g?l?n %1
(A) Ground state (A) T (FTd
(B) Radial nodes (B) ==t ofem
(C) Excited state i 3t Tt
(1) Nodal surfaces (D) T '1'@
Which of these causes water pollution ? 49. T Fre 5o v AR 2
(A) Sewage (A) s i i
(B) Industrial waste S IBIUE? aafsTe
(C) Fertilizers and pesticides Elé; 3 Frearsft
(D) All of these ) 3 ey




I/ \/\V \/ |1 [ | A ()[) [ |

(A) Photosyn
(B) Synthesis of |
(C) Anabolism
(D) Respiration

The ability of metals to
wires is called

(A) Malleability
(B) Brittleness
(C) Ductility
(D) Toughness

The place where highest average rainfall |

in Haryana is
(A) Sirsa district (B) Hisar district
(C) Ambala district (D) Mewat district

Galvanisation is a method of protecting
steel and iron from rusting hy coating
them with a thin layer of

(A) Copper (B) Aluminium

(©) Zine (D) Tron




57.

. If X is brother of the'.

60.

61.

(A) Catenation
(B) Condensation

(C) Chan-Lam coupling
(D) Carbonylation

fl’?‘ & oAl ‘v‘efi“l

1—....; 4V

el 7 ;!'!»;-.

(A) Nirjal Ekadashi w‘_‘z_;}g_'e |
(B) Somvathi Amavasya ‘*id L
(C) Kartik Purnima

Ll

(D) None of the.abbv e

is X related to Y ?
(A) Son

(B) Electron double quantum number
(C) Electron triple quantum number

(D) Electron two spin quantum number

SI unit of frequency (v)
(A) Meter (B) Hertz
(C) Centimeter (D) Nano meter

As per Haryana Panchayat Raj Act,
1994, in which Section ‘Making False
Declaration’ is mentioned

(A) Section 181 (B) Section 191
(C) Section 161 (D) Section 171

The value of [10]5“l 9 10”“] 18
(A) 1000 (B) 10000
(C) 100000 D) 106

-10-

Ya;gﬁgﬁ}qﬁ% ?Pr XHY
@ﬁm%v

60.

AR (v) F1 TS TR

(&) i Byt

(C) HHi D) ¥ e

s e T st 1994 % SER,

oy 7T et om Sy F1 IoE@ © 1
(A YT 181 (B) g1 191

(C) 41 161 (D) &R 171

61.

62. [10™ 10" | o
(A) 1000

10000
(C) 100000

(D) 108



Pipes A and ,
hours respectively.
12 hours. If all the
together, then the t

13
(A) 1 — hours
17

9
C) 3— hours
() £t ours

66. sec’9—-1=7?
(A) tan?
(B) tan?0 + 1
(©) cot®0— 1
(D) cos®
Speed of light in vacuum
(A) 21 T0° ms
(B) 3.0 x 10°ms™
(C) 4% 108 ms™
(D) None of the above

Mata Parkash Kaur Welfare Centre of 68
Karnal in Haryana treats which of the i

following disabilities 9

(A) Brain Impairment

(B) Sight Impairment,

(€) Speech and hearing impairment

(D) Schizophrenig
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(A) 3.626 x 1(
(B) 5.626 x 108" T [
©) 6.626x10%Js
(D) Ncme ocfth:eahave e

71. Who was‘tkeﬁrs%’@h irms

BackWard:@lésses Gam‘ﬁuéﬁiéﬁ"'@

(A) Justice Hukum Sl.ng;fx i DR

(B) Justice Ranjan Gogoi 2

(C) Justice Dinesh Trivedi
(D) Justice Gurnam Singh

(A) Ductility

(B) Lustre 5 -8
(C) Malleability ; © iy A
(D) None of the abd ; | (D) Z'q?-:iiﬁ' ﬁ % ﬁ'é qﬁ
73. Which of the follomng is not a noble gas 89 73. fadw Ehﬁ'—f—l‘l'l "ﬁilﬁ TR Y
(A) Helium (B) Neon (A) ®B) £
(C) Argon (D) Hydrogen Aty D) ET@GH

74. A Panchayat Samiti can be dissolved | 74, wfeymom v _
under Section of the Haryana I mﬁqﬁ 1994, Y T .

Panchayati Raj Act, 1994, % 3 SRR W‘Iaﬁ(\?ﬂ g

(C) 110

g,
75.  The value of sin 0 and cos (90° - @) o _
(A) Are same + 8in 6 3 cog (90° - b) 1 9
(B) Are different (A) THH @
(C) No relation ‘\Mﬁ'%
(D) Information insufficient (C) Hay 7
C (D) qoT Tofe

-12-
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(C) Manesar

charged particles, ¢
(A) Protons
(B) Neutron
(C) Electrons
(D) None of the above

. Which among the foll
an amenity as defined m;Haryana

Panchayati Raj Act, 1994 ? i
(A) Road (B) Playground
(C) Out house (D) Stree light
The atoms with same mass numbegﬁ
different atomic number QD

(A) Isochoric

(B) Isotopes

(C) Isobars

(D) None of the above
First mobile court of Haryana was set up |
in 2007 at
(A) Panipat
(C) Sirsa

L

(B) Mewat
(D) Gurugram

The Haryana Panchayat Raj Act came
into force in the year

A) 22 April 1994

(B) 23 April 1994

(C) 20 April 1994

(D) 21 April 1994
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ence ha

Out of

questions, a sent

8 The employer said that he shall
your wages the next day :

(B) The employer told him that he
would pay his wages the next day

(C) The employer said that I'shall pay
my wages the next day , |

(D) The employer said that he shall pay
his wages the next day :

86. Rajesh'said} “I bought a car yesterday”.
\_rRajesh said that I have bought a
car the previous day

(B) Rajesh told that he had bought a ( ) ol
_car yesterday 7 I ®T e
(C) i‘;ajeﬂh said that he bought a car & ”

he previous day ' w
(D) Rajesh said that he had bought a e

car the previoug day ‘. (D) m q Eﬁlé B






